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QUESTION NO: 1
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You are provisioning a service chain to process external subscriber's traffic in a Contrail OpenStack cluster. Service
instances SlI-1, SI-2, and SI-3 are firewall instances that permit all traffic.

Referring to the exhibit, which two statements are correct? (Choose two.)

A. The access control lists on vRouters must be modified to permit traffic from the external hosts.
B. The default security group configuration does not need to be modified.

C. The access control lists on vRouters are provisioned automatically.

D. The default security group configuration must be modified to permit traffic from the external hosts.

ANSWER: AC

QUESTION NO: 2

Exhibit.

DumpsArena - Pass Your Next Certification Exam Fast!
dumpsarena.com


https://dumpsarena.com/

DUMPSQARENA

= Exhibit £3)

on™ : "true®

Referring to the exhibit, which two statements are correct when deploying the Kubernetes pod? (Choose two.)
A. A pod is created with the name "test".

B. Pods are reachable by pods in a different namespace.

C. Pods are reachable only by pods in the same namespace.

D. A podis created with the name "test1".

ANSWER: CD

QUESTION NO: 3

In a Contrail multicloud environment with Azure and AWS cloud, which two components must be provisioned? (Choose two.)
A. Contrail Controller

B. AppFormix node

C. multicloud gateway

D. Contrail analytic database

ANSWER: AD
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QUESTION NO: 4

You are deploying Contrail Enterprise Multicloud in your environment. You must securely connect your private resources
with publicly-hosted resources.

What must be included in this scenario?
A. AppFormix

B. Contrail Security

C. service chaining

D. Multicloud-Gateway

ANSWER: D

QUESTION NO: 5

In an OpenShift deployment, you want to have Contrail's CNI plugin create tag-based firewall policies in an automated
fashion. Which action should be performed in this scenario?

A. Use the kubect1 apply -f network-policy.yaml command.
B. Use the kubect1 autoscale deployment foo —min=2 —max=10 command.
C. Use the kubect1 delete -f ./pod. json command.

D. Use the kubect1 scale —replicas=3 rs/foo command.

ANSWER: D

QUESTION NO: 6
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After implementing VMware as your orchestrator. you notice that the automatic provisioning of networks and ports using
Contrail is not working.

Referring to the exhibit, which Contrail component must be installed on your ContrailVM in this scenario?
A. Contrail vCenter Manager (CVM)

B. Linux Kernel

C. Contrail security

D. AppFormix

ANSWER: B |

You are using Kubernetes in your Contrail Enterprise Multicloud environment. You must create an isolated Kubernetes
namespace. In this scenario, which two statements are correct? (Choose two.)

A. A networking port is automatically created.
B. A pod network is automatically created.
C. A network policy is automatically created.

D. A project is automatically created.
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ANSWER: AC

QUESTION NO: 8

Which two roles does Contrail Enterprise Multicloud place on IP Fabric devices in a Unicast edge-routed environment?
(Choose two.)

A. The leaves are Layer 3 VXLAN gateways.
B. The spines are Layer 2 VXLAN gateways.
C. The spines are Layer 3 VXLAN gateways.

D. The leaves are Layer 2 VXLAN gateways.

ANSWER: B C

QUESTION NO: 9

You are connecting your on-premises data center to the Azure cloud.

In this scenario, which connection gateway service is implemented within the Azure cloud by Contrail Enterprise Multicloud?
A. virtual private gateway

B. multicloud gateway

C. virtual network gateway

D. customer gateway

ANSWER: A

QUESTION NO: 10
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Referring to the exhibit, which role is the router device performing when implementing a
PNF service chain?

A. customer gateway

B. service control gateway

C. virtual private gateway

D. multicloud gateway

ANSWER: A
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